Alg 2/2+ Ch 1 Test Practice Test _iio_ calen la‘-ﬁ‘é\

Show work for full credit. Circle, box, or highlight your answers.

Questions are worth 5 points each; the total will be converted to an equivalent score out of 100.

Evaluate each expression for x=2

1. X = 5X + 3x — 6x + 2x 2, 4(x2=3)+7(x-1)
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Simplify each expression
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3. 2X+9y—7x +2y 4, 32(x—4)+1]+2(x=7)
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Solve each equation
6. 3(4x—2)-5=-47

5. 9y-5=3y+7
3(4e-2) = ~HL

7. The lateral surface area of a cylinder is lvenb
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Solve each equation/inequality

8.

13,

14.

2x+21>7

Based on the pattern below, sketch the 5t image in the sequence...here:
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Name each number set in the nested boxes below. Use “integers,” “whole numbers,”
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“irrational numbers,
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natural numbers,” and “rational numbers.”
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